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Cluster: 0235 ptr; resid: 0.24; r/c: 26/83

x.range

upstream meme PSSM #1; e=1e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
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upstream meme PSSM #2; e=1.9e+03

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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50804
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9255

−500 −400 −300 −200 −100 −1
34308NA
52400NA
52511NA
46435−1.25
47082−1.27
36058−1.86
46170−1.89
19586−1.91
46063−2.17

9255−2.19
36386−2.28
32539−2.44

5954−2.49
13114−2.52
35081−2.62
12221−2.67

3046−3.09
11403−3.44
36976−3.45
13057−3.47
45559−4.27
42051−4.56
47461−4.92

9070−5.09
3296−5.40

50804−5.62
log10(P) upstream meme1 2 log10(P.clust)=−3.08; 26 seqs; 24 uniq

c(0.5, 2.5)
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